20224 fE F45[E £EJIOCT AT AU EYIHYTEEZKiKFERKRE KBk a—k-TL—&EHLER]

GNo B-28 544P BHXFREL [2023/3/28)
CAP Team 1P| 2P | 3P | 4P | PSO| &t 21 FEEEBRKAKKE
W BRaXKFEDEHG 1 1 1 3 EH1 [ Bhte
B waKkeky>7 4 2 2 4 12 gy FHEN HEF
Ba/a—k RETL— =X /Incomplete 7 L —
~ R R F t 2 6 7 U [ PIPY|TR|ZE|P|XK
A 7K by 2 b N m 9 '_\ / ? alal |®|/ |z EZ/Ichon:lpIete
No. |msxsss gl: ; ”IL' v ; 3 ;E?% ;L ;%’ JE E Kpﬂé\—x;?x
1 b Fol |k - i)l K | 81 M:Ath DI R
T
1|El #hik /1 0 0 4 |ofo]o
2|7~% ER /1 o o 0 |0|2]|0]|P
3luE £+ /1 /1 2 0 2 |111[1]K
4|RR KW /2 1 0 0o |of1]o0
58K BA| 1/1 /1 /1 /1 1 0 3 |1[1]1]PK
6|—= #uE /1 2 1 0 [3|0]o0]|PK
7|BE EX 0 0 1 (o] 1]|o0[PPP
8|Em 0 0 0 |ofo]o
o|#th fgth 0 0 0 |ofo]o
10|88 #HE 1/1 | 1/1 0 0 1 [1]1]2|PKPK
11|88 K& 0 0 0 |ofo]o
12| 1L 5732 0 0 0 |ofo]o
13[8R & o o 0 |0]0]0O
14|+ sz 0 0 0 |ofo]o
15|x%m B+ 0 0 0 |ofo]o
F—LEt| 1/1 [ o3 1/3 ] 1/1 | o/1 | 0/3 0/1 6 1 11 [6[7]4
#RBE=] 3 a—rEE = 13
GK EE s AT JOvoB [ RRV1—MEIEE%
GK1|BEW #hik 17 12 3 20.0%
GKI3|EIR & 0 0 0
55/ 21—k WEITL— =X /Incomplete 7 L—
~ i< e F + 3 6 7 U I P|PY[THR|ZE[P |
¥ X byg 2 b N m ? ’_‘ / ?? ol |%|/ |2 57\/Inocor11p|ete
~ P P P = INAS
No. |woskmss7 ’7_lj ; ? v ; N ?.E§ ;/l ~ ’; % 1EE E KZ—Z?EZX
1 v F &b - ) 7 | 8l M:Ath DI R
.
1|18% BAE 0 0 2 |ofofo
AL 1/1 | 2/2 | 1/1 /1 0 0 0 [2|0]0]|PK
3[HLE X /1 | 1/2 | /1 3 4 4 [3]0]1
Al3RE k— 1/1 1 0 0 [2]|0]0]|KK
5B | 1/1 | 272 /1 2 1 2 lol1[1]K
6|EH BE 1/2 1 3 3 |5|1]1]|KP
7|EO0 1 0 0 1 [o]jo|ofp
8|zm xzm 0 1 0 |[2|o0]2]|P
9= Exm 0 0 1 [o]2]o0
10 0 0 0 |ofo]oO
11 0 0 0 |ofo]o
12 0 0 0 |ofo]oO
13|Z8L BK| 1/1 0 0 0 |ofo]o
14 0 0 0 |ofo]oO
15 0 0 0 |ofo]o
F—LE| 2/2 | 4/4 | 5/7 | 1/2 0/1 0/1 7 9 13 |14] 4|5
BREF=] 12 a—hHER= 17
GK HME 21— E£2H JOvoR [ BRS1—FHEIEE%
GK1|BE*x BRE 13 3 5 62.5%
GK13|EFIL $#X 0 0 0




